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Question 17

A — — —

i)
i)

The following information is provided by MNP Ltd. for the year ending 31* March ,2020:

Raw Material Storage period 45 days
Work-in-Progress conversion period 20 days
Finished Goods storage period 25 days
Debt Collection period 30 days
Creditors payment period 60 days
Annual Operating Cost Rs.25,00,000
(Including Depreciation of Rs.2,50,000)

Assume 360 days in a year.

You are required to calculate:

Operating Cycle period

Number of Operating Cycle in a year.

Amount of working capital required for the company on a cost basis.

The company is a market leader in its product and it has no competitor in the market. Based on a
market survey it is planning to discontinue sales on credit and deliver products based on pre-
payments in order to reduce its working capital requirement substantially. You are required to
compute the reduction in working capital requirement in such a scenario. (PYP 5 Marks, Jan’21)



Question 8

A company is considering its working capital investment and financial policies for the next year.
Estimated fixed assets and current liabilities for the next year are X 2.60 crores and X 2.34 crores
respectively. Estimated Sales and EBIT depend on current assets investment, particularly inventories
and book-debts. The Financial Controller of the company is examining the following alternative Working

Capital Policies:

Prakshal Shah | 8779794646

Chapter 9.1 Introduction to Working Capital Management

(X in crore)

m/ VIVITSU ezt

Working Capital Investment in Estimated Sales EBIT
| Policy Current Assets

Conservative 4.50 12.30 1.23

Moderate 3.90 11.50 1.15

Aggressive 2.60 10.00 1.00

After evaluating the working capital policy, the Financial Controller has advised the adoption of the
moderate working capital policy. The company is now examining the use of long-term and short-term
borrowings for financing its assets. The company will use X 2.50 crores of the equity funds. The corporate
tax rate is 35%. The company is considering the following debt alternatives.

Short-term Debt Long-term Debt

Financing Policy
Conservative
Moderate
Aggressive

Interest rate-Average

0.54

1.00
1.50

12%

You are required to CALCULATE the following:

()  Working Capital Investment for each policy:

(a) Net Working Capital position

(b) Rate of Return

(c) Currentratio

(i) Financing for each policy:

(a) Net Working Capital position.

(b) Rate of Return on Shareholders’ equity.
(c) Currentratio. (RTP May ‘19, Nov'18)

1.17

. 295/507

16%
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